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Evaluate numeric expressions demonstrating the ability to add, subtract, multiply, and divide

% positive and negative integers.
# (Clearly show work) Circle your answer.
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Evaluate numeric expressions that include two operations and positive and negative integers.

+¥(Clearly show work>Circle your answer.
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Evaluate complex numeric expressions that include three or more operations, parentheses, and

positive and negative integers.
+  (Clearly show work) Circle your answer.
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Evaluate complex numeric verbal expressions involvi least 2 operations. Rewrite as
numeric expression using ()'s only when needed. Clearly show work.\Circle your answer.

1) double the sum of 2 and -7 2) twice -10 plus 50
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